@ Requisitos de seguranga e regras
de conservacao e utilizacao

1. Familiarize-se com as especificagdes deste manual
de instrugoes.

2. Proteja o produto de impactos e danos mecanicos.
3.Para a evitar lesoes, antes de utilizar o produto,

verifique a respectiva exactidao e fiabilidade de
acordo com os requisitos deste manual.

4.0 produto deve ser armazenado em local fechado a
uma temperatura abaixo de +2°C e humidade relativa
do ar de 45 a 70%.

5.Recomenda-se a limpeza do produto com um pano
himido e, de seguida, com um pano macio e limpo.

G TpeGosanus no TexHuke GesonacHoct,
NpaBKNa XpaHeHMs U SKCNYaTaLuu

1. BHMMaTenbHO 03HaKOMbTECH C TpeboBaHUSIMU
HaCTOSILLErO PYKOBOACTBA MO SKCMIyaTaLmu.

2. O6eperaiiTe U3aenue ot yaapoB U MeXaHUYECKUX
NOBpEXAEHUNA.

3. ins ncknoyeHns TpaBMUpPOBaHUA, Nepen Havyanom
aKcnayataunm yﬁe,ﬂMTECb B NPaBUIbHOCTU U
HafexHocTn C60pKl4 M3a4enua B COOTBETCTBUU C
Tpe6OBaHM9IMM HacToALlLero pykosoactea.

4. V3penvie AOMKHO XPaHUTBCS B KPbITbIX MOMELLEHNSIX
npu Temnepatype He Huxke +2°C 1 OTHOCUTeNbHOM
BNAXHOCTM Bo3ayxa ot 45 no 70%.

5. /3penne pekomeHayeTcs NpOTUPaTb BAAXKHOM
TKaHbIO M 3aTeM HaCyX0 MSrKO YUCTOM TKaHbIO.

@ blaisVl auldg)l duwaig)l wllbio
plasiawVlg

plazsaVl Jds oldbie &)l 8518 1)

ASlSaoll LoVly wlorall (o guioll e blax)l .Y
LnSQa_M.oJJ Sl wygogwu.o.)su| o>y WY
oYl iz plaziwVl 8 JJul s oldbeio)

8,1)> a0 adlao By (08 guindl o33 pa Ul L L
Al Aygb,lly dysie dx)s Y+ e Ji5

IV i 750 oo

Ao o5 @llio Julod ashsy auied! euwes 2ol .0
ancly asudai (@Sl> Luled ashsy

@) Garantia do fabricante

1.A empresa/fabricante garante que o produto se
encontra em conformidade com os requistos dos
documentos normativos sobre a condigao de que o
consumidor respeita as regras de armazenamento,
transporte, utilizagao e montagem.

2.0 periodo de garantia do produto é de 24 meses.

3.Durante o periodo de garantia, os defeitos sao
solucionados gratuitamente. Assim que o defeito for
detectado, o consumidor deve informar imediatamente
o fabricante. A decisao sobre a reparagao do produto ou
fornecimento de pegas sobressalentes fica a critério do
fabricante.

4. Este produto ndo é indicado para uso comercial ou
industrial. A violagao desta regra conduz a um corte no
periodo de garantia.

5.A garantia cobre apenas o material ou os defeitos de
fabrico. Nao estao cobertas pela garantia as pecas com
sinais de desgate ou danificacao causados pelo uso
incorrecto, uso de forga ou outras intervencoes ocorridas
sem consulta prévia do nosso servico de assisténcia.

6. Conserve a embalagem original durante o periodo de
garantia para que, em caso de devolugao, tenha a
possibilidade de usufruir do transporte seguro de
mercadorias. Nao envie o produto para o servico pos-
venda sem a embalagem!

V) TapanTus usrotosuens

1.MpennpusT1e-13roToBUTENb rapaHTUPYeET COOTBETCTBUE
u3nenus TpeboBaHMAM HOPMaTUBHbIX AokymeHToB DIN
EN 716 npu ycnoBuwm cobntoneHus notpebutenem npasun
XpaHeHWsl, TPaHCMOPTUPOBaHMS, KCTTyaTaLmMmu U CGOpKM.
2.TapaHTWiiHbIM CPOK 3KCMNyaTaLmum usnenws - 24 mecsaua.
3.B TeueHue rapaHTUiAHOro cpoka Nobble fedekTb
ycTpanstotcs 6ecnnatHo. [Mpu obHapyxeHun gedekta Bam
HeobxoAMMO HeMeANEeHHO CO06LLUTbL 06 3TOM NPOK3BO-
AuTento. PellieHne Bonpoca 0 peMOHTe U3Aenust unu no-
CTaBKM 3aMacHOM YacTi OCTaeTcs Ha YyCMOTPeHUe Npous-
BOAMTENS.

4. laHHbIi NPOAYKT He NMOAXOAUT AN KOMMepYECKoro
WM NPOMBILLNEHHOTO UCMOb30BaHUs. HapyLeHne npu-
BO/JIMT K COKPALLEHMIO CPOKa rapaHTum.

5.TapaHT1s pacnpocTpaHseTcs TONbKO Ha MaTepuan Um
NpoM3BOACTBEHHDIV 6pak. M3HOC AeTaneit unm noBpex-
[leHWs, BbI3BaHHbIE HEMPaBU/IbHBIM UCMONb30BaHUEM, NTPU-
MEHEHWEM CUJIbl UM BMELLATE/bCTBOM, KOTOpble UMenn
MecTo 6e3 npeaBapUTENbHOM KOHCYNBTALMK C HALWWUM cep-
BUCHbIM OT/E/IOM, He MOKPbIBAKOTCS rapaHTUiHbIM 06C/y-
KUBAHUEM.

6. Moxanyicra, COXpaH1Te OPUrMHABHYIO YNaKOBKY Ha
NPOTSHXKEHWUU [ENCTBUS rapaHTUIMHOTO CPOKa, YTOBbI B CNly-
Yae BO3BpaTa MMETb BO3MOXHOCTb Ge30MacHoM TpaHc-
NopTUPOBKM ToBapa. He oTnpaensiiTe ToBap B CEPBUCHbIN
otaen 6e3 ynakoBku!

CAE ) ulaall gilall

bell ollbio) guioll 3lg3 (roua uiied] graed! .
! aasdl bog i cllpiodl plyal boyain dpoulaiill
i woS,dlg plazcwVl

T Y5 — gunal) Olouall 8,8 .Y

5] .oleall 8,8 UM blxo JUs oSl sleiwl p Y
osle aziaoll &S il Usb o9 ol elidss (JLs wazg
g ,Lall ghad 11,95 ol aaoll 2o @lliso (i gl
asianll &Syl asi

of 5, sl plasiwlW cowlio e guioll [ia .5
Oloall 8, Jolasil 3l oS3 JlpiVl .oscliall
b Vg cgaiaidl 15 ol 8300l b Olaall (b .0
o aaxl Lo ol sVl sl ol oloall aoas

0gs Uil of 8ol plazeiwl pulaw yue plaziwl
Wlouall 8,18 JMs> a oVl adell blassVl s>y 1
ol Jai .9

acladl Jowy V .acgs, Jl> (58 duol day,

tadall Gsn ozl powd (sl

@) (Certificado de aceitagio

Produto # fabricado e promulgado de
acordo com os requisitos padrao obrigatdrios em
vigor e esta em conformidade com a documentagao
de suporte e apto para ser utilizado.

O representante do departamento de controlo de
qualidade

Data de fabrico

Embalador

0 fabricante reserva-se ao direito de efectuar
pequenas alteragoes técnicas nao mencionadas

neste manual.

A reparagao, substituicao de pecas e
componentes do produto durante o periodo de
garantia é feita no seguinte endereco:

Polini GmbH, Dieselstrafie 2,40721 Hilden, Deutschland
tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de

Data da venda

Carimbo de venda da organizagao

@) Ceunerensctso o npuemke

M3penune N2 U3rOTOB/IEHO U
NPUHATO B COOTBETCTBMM C 06sI3aTeNbHbIMU
TpebOBaHWAMM CTaHAAPTOB, AENCTBYIOLLEN
TEXHWUYECKON AOKYMEHTaUMeN U NPU3HAHO
FOAHBIM ANS SKCNAyaTaLmm.

Mpencrasutens OTK

Jara nsrotosneHus

YnakoBLUMK

U3rotoBuTeNb OCTaBNSET 33 060/ NPaBO Ha

BHECEHWEe He3HAYMUTENbHBIX TEXHUIECKUX U3MEHEHMUIA,

He OTPaXKeHHbIX B AaHHOM pYKOBOACTBE.

PeMoHT, 3amMeHa fieTaneii v y3nos usaenus
B NEpUOA, rapaHTUIHOTO Cpoka
NPOW3BOAMTCS MO afpecy:

427430, r. BotkuHck, yn. Peunas 2, CIY)XBA CEPBUCA
Ten. +7 34145 43625, e-mail: servicevpk@topol.ru

[ara npopaxu

LLtamn TopryioLweit opraHusaumum

CAE Jguidl 63lpiv
lllaio) ladg algudy asio pi 28, zuioll

w5 @l aasll slis) Uassg pulanll dualy VI
loziwl Lol @ SlaeVl

5393l b Jiow

cadedl o6 o
gall gu,b

sl 2lys] axsind] &S uad) (5=
Il 138 0 e Y ol

JMs olsaioll ©lsSeg s3>Vl Jlogwl (@MoY vlgic
10louall 8,39

Polini GmbH
Dieselstrafle 2, 40721 Hilden, Deutschland
tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de

&l &b
&, lzill anlainll pu>

Please read this manual carefully before using the product. Please follow all instructions in this manual.
KEEP THE MANUAL FOR FUTURE REFERENCE!

Bitte lesen Sie vor Gebrauch des Produktes die Bedienungsanleitung sorgfaltig durch.

WICHTIG FUR SPATERES NACHSCHLAGEN AUFBEWAHREN!

Lees deze handleiding voor gebruik van het product. Volg alle instructies in deze handleiding.

BEWAAR DE HANDLEIDING VOOR DE GEHELE LEVENSDUUR VAN HET PRODUCT.

S'il vous plait lire ce manuel avant L'utilisation du produit. S'il vous plait suivre toutes les instructions de ce manuel.
GARDEZ LES INSTRUCTIONS POUR LUTILISATION DU PRODUIT!

Por favor, lea este manual cuidadosamente antes de la operacién del producto. Por favor, siga todas las instrucciones de este manual.
MANTENGA ESTE MANUAL DURANTE TODO EL PERIODO DE EXPLOTACION DEL PRODUCTO!

Legga attentamente questo manuale prima di usare il prodotto. Per favore, segua tutte le indicazioni del manuale.
CONSERVI IL MANUALE DURANTE TUTTO IL PERIODO DELLESPLOTAZIONE DEL PRODOTTO!

Leia atentamente este manual antes de utilizar o produto. Siga as instrucoes.
CONSERVE O MANUAL DURANTE O TEMPO DE VIDA DO PRODUTO!

@D
{ DE
INL
LFR
LES
L IT
L P
[RU
LAE

Jle
lobeio 130 8 laslosl gun £l w|p|m| & Sl

BHMMaTenbHO NpoyTHTE 3TO PyKOBOACTBO NEpea 3Kcnayatauuei uspenus. Moxanyiicra, ciepyiTte BceM YKasaHUAM AAHHOTO PYKOBOACTBA.
COXPAHAINTE PYKOBOACTBO B TEYEHWE BCEFO CPOKA SKCIUTYATALIMU U3LENUA!

\U"uLu '9A|

A O¢
ainll ASelamiay L o)...wJI N2 D

ap
POLINI

Il C€ 150

polini-kids.de polini-rus.ru

Loft bed Polini Simple with desk and wardrobe

Hochbett Polini Simple mit Screibtisch
und Kleiderschrank

Hoogslaper Polini Simple met een bureau
en een kledingkast

Lit mezzanine Polini Simple avec bureau et armoire
Cama alta con escritorio y armario

Letto soppalco con scrivania e armadio

Cama alta com uma mesa e guarda-roupa

KpoBatb-ueppak Polini Simple c
NUCbMEHHDBIM CTO/IOM M WKahoM

e &l Josl uiSo 80 juusS Selke juyw

O 00000 & 0O

000000606

Produced by: VOTKINSK INDUSTRIAL COMPANY JSC, Industrial area,
Sovetskaya Str., Electrogorsk, Moscow region, Russia, 142531

Hergestellt von: VOTKINSK INDUSTRIEUNTERNEHMEN AG, 142531, Russland,
Moskauer Gebiet, Stadt Elektrogorsk, Sowjetskaja Strafie, Industriezone

Geproduceerd door: OAO "VOTKINSKAJA PROMYSILENNAJA KOMPANIJA", Russische Federatie,

142531, Region Moscou, Elektrogorsk, Sovetskaja straat, Promzona (industriéle gebied)

Produit par:JSC"VOTKINSK INDUSTRIAL COMPANY"
Russie, 142531, région de Moscou, Elektrogorsk, Sovetskaya Rue, zone industrielle

Producido por: SRL “VOTKINSKAYA PROMYSHLENNAYA COMPANIYA"
Rusia, 142531, region de Moscu., Electrogorsk, calle Sovetskaya, area industrial

Prodotto: S.p.a. del tipo aperto "VOTKINSKAYA PROMYSHLENNAYA KOMPANIYA”
Russia, 142531, la regione di Mosca, citta Elektrogorsk, str. Sovetskaya, zona industriale

Produzido por: EMPRESA INDUSTRIAL VOTKINSKAYA, S.A.
Zona Industrial, Rua Sovetskaya, 142531 - Elektrogorsk, Regido de Moscovo, Russia

MpousseaeHo: OAO «BOTKUHCKAS MPOMbILLIEHHAS KOMIAHMS»
Poccus, 142531, Mockosckas 06n., . dnektporopck, yn.CoBeTckas, NpoOM30Ha

et VYOT) gy Mol St a5 "
s e sl sy Sl g 2 0

Legal address: VOTKINSK INDUSTRIAL COMPANY JSC
2, Rechnaya Str., Votkinsk, Russia, 427430

Unternehmenssitz: VOTKINSK INDUSTRIEUNTERNEHMEN AG
427430, Russland, Votkinsk, Rechnaya Strasse 2

Wettelijk adres: OAO "VOTKINSKAJA PROMYSILENNAJA KOMPANIJA'
427430, Russische Federatie, Votkinsk, Retsjnaja straat, 2

Adresse légale: JSC “VOTKINSK INDUSTRIAL COMPANY”
Russie, 427430, ville de Votkinsk, Rechnaya Rue, 2

Domicilio legal: SRL “VOTKINSKAYA PROMYSHLENNAYA COMPANIYA"
Rusia, 427430, Votkinsk, calle Rechnaya, 2

Lindirizzo giuridico: S.p.a. del tipo aperto "VOTKINSKAYA PROMYSHLENNAYA KOMPANIYA”
Russia, 427430, citta Votkinsk, str. Rechnaya 2

Enderego comercial: EMPRESA INDUSTRIAL VOTKINSKAYA, S.A.
Rua Rechnaya 2,427430 - Votkinsk, Russia

tOpuanueckuit agpec: OAO «BOTKMHCKAS MPOMBILLNEHHAS KOMMAHMS»
427430, Poccus, 1. BOTKMHCK, yn. PeyHas 2

o EYVEY+ Lwg, Mapcliall dluiaSigd &S i pc: Y ,_Ltyl.n.” Olgasl!
L) ey linSigd




@ Requerimientos de seguridad, reglas .D Le richieste della sicurezza, le regole

)
L I N I S I m p l e de almacenamiento y operacion della conservazione e lesplotazione

1. Por favor, lea cuidadosamente los requerimientos de 1. Legga attentamente le indicazione del manuale
este manual. presente.

2. Proteja el producto de golpes y dafios mecanicos. 2. Premunisca il prodotto dai colpi e le rotture

3. Para evitar lesiones, antes del uso, se asegura en la meccaniche.

correccion y la fiabilidad del conjunto del producto 3. Per escludere i trauma prima di cominciare ad usare
seguin los requerimientos de este manual. il prodotto guardi se il prodotto sia messo ed

installato correttamente e sicuramente secondo le

4. El producto debe almacenarse en espacios cerrados >
esigenze del manuale presente.

a una temperatura no menos de + 2 ° Cy una humedad
relativa de 45 a 70%. 4.1l prodotto deve essere conservato negli spazi chiusi
5. Se recomienda limpiar el producto con un pafio alla,te.mpreatura non meno di +2°C e lumidita relative
humedo y luego secarlo con un pafio suave y limpio. dellaria da 45 a 70%.
5. Si raccomanda di pulire il prodotto con la stoffa
umida e poi con la stoffa secca e pulita.

G Lagarantia del fabricante @D Lagaranzia del produttore
1. El fabricante garantiza que el producto cumple con 1. La fabbrica produttore garantisce la conformita del
los requerimientos de los documentos normativos con prodotto alle esigenze dei documenti normativi a
sujecion a las reglas del almacenamiento, transporte, condizioni che il consumatore segua le regole della
operacién y montaje. conservazione, la trasportazione, lesplotazione e
. . l'installazione.
H 2.El periodo de garantia del producto - 24 meses. 5 . . ) .
3. Durante el periodo de garantia, cualquier defecto se é.;ldrp;relgido della garanzia dellesplotazione del prodotto
bl elimina de forma gratuita. Si Usted descubre un o . o
I defecto, por favor, notifica al fabricante inmediatamen- 3.Durante il period della garanzia tutti i difetti vengono
te. EL fabricante debe decidir por si mismo, si es eliminate gratis. Nel caso se abbia trovato un difetto
e necesario a reparar el producto o suministrar las bisogna cor_numcarne §ub|to _al produttore. La decisione
g iezas de recambio della questione della riparazione o del consegno del
pieza fecambio. pezzo di ricambio é alla responsabilita del produttore.
4. Uso comercial o industrial de este producto es . \ .
hibido. Violacién de L L q 4. |1 prodotto non conviene per lusanza commerciale o
proni !,0' 10 auon. € laregla Co,n uceauna industriale. La trasgressione provoca la riduzione del
reduccion en el periodo de garantia. periodo della garanzia.
5. La garantia cubre solo los materiales o defecto de 5.La garanzia tocca soltanto il materiale o il difetto della
fabrllcauon. Las piezas desgastadas 0 danadas. por el produzione. Lamortizzazione dei dettagli oppure le
uso incorrecto, e{ uso de la fuerz? 0 intervencion que rotture causate dellusanza incorretta, Lusare di troppa
se llevo a cabo sin consulta previa con nuestro forza o lesplotazione incorretta senza la consulenza
departamento de servicio no esta cubierto por la porimaria con il nostro dipartimento di servizio,non
garantia. vengono coperte dal servizio della garanzia.
6. Por favor, mantenga el embalaje original durante el 6. Per favore, conserva l'imballaggio originale durante
o , periodo de la garantia, para que en caso de devolucion tutto il periodo della garanzia per avere la possibilita di
» ||, sea posible asegurar el transporte del producto. {No trasposrtare il prodotto al modo sicuro nel caso del
envie el producto al departamento de servicio sin rimborso. Non mandi il prodotto al dipartimento di
A embalaje! servizio senza l'imballaggio!
I S ——— |
&) (Certificado de recepcion @D [ certificato dell'accettazione
o El producto # es fabricado y recibido Il prodotto # e prodotto ed
Ll . % segun los requerimientos obligatorios de las normas, accettato secondo le esigenze degli standard in
g la documentacién técnica actual y es declarado apto vigore, la documentazione tecnica valida ed &
1 para la explotacion. nominato buono per lesplotazione.
¥ El representante de DCT IL rappresentante dell'OTK (il comitato del controllo)
= Fecha de fabricacion La data della produzione
Empacador Limbalattore

5x

El fabricante reserva el derecho de realizar I produttore ha il diritto di fare i piccoli
cambios técnicos menores que no estan cambi tecnici non descritti nel manuale

reflejados en este manual. presente.

La reparacion, el reemplazo de piezas y La riparazione, il ricambio dei pezzi e

componentes del producto, durante el periodo dettagli del prodotto durante il periodo

de garantia, se realiza en la direccion: della garanzia si fa all'indirizzo:

Polini GmbH, Dieselstrae 2, 40721 Hilden, Deutschland Polini GmbH, DieselstraRe 2, 40721 Hilden, Deutschland
tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de
Fecha de venta La data della vendita

El estampo de la organizacién de comercio La stampa dell'organizzazione venditore




Number on the picture Number of parts in the product
‘!l’ Veiligheidseisen, opslag- en ‘i;) Les exigences de sécurité, des reégles Nummer in der Zeichnung Stiickzahl der Teile im Produkt Laying / Verpackung / Pakking / Pose /
9 o) pslag 9 . 9 Nummer op figuur Aantal componenten in het product - El embalaje / Posa / Estilo / Yknaaka / <y
de exploitatie-regels de stockage et de fonctionnement Nombre  La figure Nombre des détails du produit Parts description Nombre de los elementos
Numero en el dibujo Cantidad de elementos del producto (B)ez:m:nlung :;a n.omlnfm:ne dei dettagli
1. Lees aandachtig de voorschriften van deze 1. Lisez attentivement les exigences de ce manuel. ILnumero alla figura La quantita dei dettagli nel prodotto N:mfs ::snp'i‘:c"‘e:" H:::::f;::u:: .::'E::eﬁ Box / Karton / Plaats / Placer/  wlSoll
handleiding. 2. Gardez le produit contre les chocs et les dommages Niimero na figura Quantidade de pecas Y] uosss Lugar / IL posto / Espago / Mecto
2.Houd het product tegen schokken en mechanische mécaniques. A_HoMeP Ha pucynke Konuuectso aeraneit B uspenun ) )
<ehade e o ol e pdJl 2wl s3>Vl s 1 7 3 4 5
. 3. Pour éliminer la blessure, avant d'utiliser assurer
3.0m de schade op te heffen, voor het gebruiken l'exactitude et la fiabilité de l'ensemble du produit en
controleer de juisthgid en betrouwbaz.irheid van het conformité avec les exigences de ce manuel. Support Sostén pcll
produc_ta.ssemblage in overeenstemming met deze 4. Le produit doit étre conservé dans un espace fermé 1 Unterst[itzupg Travgrsa PY
handleiding. 3 la température pas inférieure 3 +2 °C et une Ondersteuning Apoio
4. Het produkt moet worden opgeslagen in gesloten humidité relative de 45 a 70%. Appui Onopa
ruimtes b'u een tem.pera.tuur niet lager cian +2°Cen 5. Le produit est recommandé dessuyer avec un chiffon Support Sostén pclll
een relatieve vochtigheid van 45 tot 70%. humide, puis séchez avec un chiffon doux et propre. Un’z:,rstuuun Traversa
5. Het product wordt aanbevolen te vegen met een 1 Ondersteuningg Apoio [ J
vochtige doek en daarna met een zachte schone doek AppUi Onopa
te drogen. PP P
Fence Valla gy
Zaun Schermo
1 Hek Cerca L
(» Fabrieksgarantie @@ Lagarantie du fabricant Protection Orpaxenme
. ) ) . . F gl
1. De fabrikant garandeert dat het product aan de eisen 1. Le fabricant garantit que le produit est conforme aux 2::? \s/i::rmo ’
van de normatieve documenten voldoet, onderworpen exigences des documents normatifs, sous réserve des 1 Hek Cerca [ J
aan de regels van de opslag, transportatie, onderhoud régles de Lentreposage, le transport, lentretien et Protection OrpaxaeHue
en montage. l'assemblage par le consommateur.
2. De garantieperiode van het product is 24 maanden. 2.La période de garantie du produit est 24 mois. Fence side Valla lateral sl s>l
3. Gedurende de garantieperiode worden eventuele 3.Au cours de la période de garantie, les défauts sont 1 Zaun Seite Schermo laterale [}
gebreken kosteloos genlimineerd. Als u een defect éliminés gratuitement. Si elle est défectueuse, vous devez Laterale hek Cerca lateral
vindt, informeer de fabricant erover onmiddellijk. De immeédiatement aviser le fabricant. La question de la Protection latérate Orpaxate boxosoe
kwestie om het product te repareren of onderdelen te :Eﬁ;antg'zr:'g;g;Oguéti;‘r‘élg;g‘g:'::gif:n{";cszgse Sidebar Barra lateral )l i
ren is de k n de fabrikant. , : e ) itenlei N
everen is de keuze van de fabrikant découvrez un défaut, vous devez immédiatement aviser le 1 Seitenleiste Longone wSolall °
4.Dit product is niet geschikt voor commercieel of fabricant. La question de la réparation du produit ou la (B)mb‘):W ) Barra lateral
industrieel gebruik. Overtreding leidt tot vermindering livraison une piéce de rechange a la discrétion du fabricant. arre de connexion Hapra
van de garantieperiode. 4. Ce produit ne convient pas pour un usage commercial ou Sidebar Barra lateral Lyl Caniad
5. De garantie geldt alleen voor materiaal- of industriel. Violation conduit a une réduction de la période Seitenleiste Longone ) §SJ£J|
fab_ri.cagefout: Slijtage_of schade veroorzaqkt door ) de garantie. 1 Ombouw Barra lateral L
onjuist gebruik, gebruik van geweld of de interventie 5.La garantie couvre uniquement le matériel ou les Barre de connexion Uapra
die plaatsvon.d zoqder.voorconsuttatle mgt onze défauts de fabrication. Les piéces d'usure ou les dommages
service-afdeling zijn niet onder de garantie. causés par une mauvaise utilisation, Lutilisation de la force Bar Barra oL
6. Bewaar de originele verpakking gedurende de ou de l'intervention sans consultation préalable avec notre BS 9 Leiste Barra PY
garantieperiode zodat u in geval van terugkeer de deépartement de service ne sont pas couverts par la Bar Barrinha
goederen veilig vervoeren kunt. Het product zonder garantie. Barre Bpycox
verpakking moet naar de service-afdeling niet 6.S'il vous plaft gardez lemballage dorigine pendant la stai Eecal ALl
verzonden zijn! période de garantie, en cas de retour détre capable de Ttalrs SSCT era
transporté des marchandises en toute sécurité. Ne pas 1 T:ppe Egjaedas [ ]
envoyez des marchandises au service sans emballage! E P
scalier JNlecTHMua cToeBas
Stairs Escalera PN
. . . . . Treppe Scale
(» (Certificaat van aanvaarding @Y (Certificat d'acceptation 1 Trap Escadas L
Escalier JlectHuua ctoeBas
Hetproduct# _ isvervaardigd en aanvaard Le produit# __ estfabriqué et accepté en
in overeenstemming met de dwingende eisen van de conformité avec les exigences obligatoires des Step Paso dghazll
normen, de huidige technische documentatie en voor normes, la documentation technique actuelle et jugé 5 Schritt Passo [
de dienst geschikt bevonden zijn. apte pour le service. Stap Passo
Etape CryneHb
Set of fittings Conjunto de los accesorios aase agl;
De vertegenwoordiger van de dienst van technische controle Représentant du Contréle qualité Satz Beschlage It completo della fornitura Y
Hang-en-sluitwerk Kit de ferragens
Kit d'accessoires Komnnekt dypHUTYpbI
Fabricagedatum Date de fabrication
Verpakker Emballeur
Wij behouden ons het recht voor om Le fabricant réserve le droit d'apporter des M m
kleine technische wijzigingen te modifications techniques mineures qui ne
maken die in deze handleiding niet sont pas reflétés dans ce manuel.
kunnen gevonden zijn. S | | S
Het adres voor reparatie, vervanging van Réparation, le remplacement des pieces et
onderdelen en componenten producten in de composants du produit au cours de la période
periode van garantie: de garantie a l'adresse:
Polini GmbH, DieselstrafRe 2, 40721 Hilden, Deutschland Polini GmbH, DieselstrafRe 2, 40721 Hilden, Deutschland
tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de ~ ~
Verkoopdatum Date de vente J
Stempel van de handelsorganisatie Létampe de Llorganisation commerciale ]
/ / N




18 x MR @SXC@@@E)ID @zsx

Confirmat screw 7 x 50
Confirmat Schraube 7 x 50
Confirmate Schroef 7x50

Vis confirmer 7 x 50

El tornillo de rosca gruesa 7 x 50
ILvito confirmato 7 x 50
Parafuso confirmat 7 x 50
BuHT-KOHDMPMAT 7 x 50

7 x50 (csu9,0Yl) izl (o

@~

Toe nail

FuRgleiter mit Nagel

Stuwdruklager met spijker

Patins avec clou

EL apoyo para el talén con el clavo

La ralla con il chiodo

0 apoio para o calcanhar com o prego
MoansTHUK € rBo3aem

Hlocuo go sbiswl aehd

Eccentric
Exzenter
Excentriek
Excentrique
EL excéntrico
Leccentrico
Tambor
IKCUEHTPUK

(yiiws]) 58,000 V g8

22 mm

Eccentric
Exzenter
Excentriek
Excentrique
EL excéntrico
Leccentrico
Tambor
IKCLEHTPUK

(s yiianS]) 58000 ¥ 0,8

@ o 08

Round nut M6
Rundmutter M6

Ronde moer M6

Ecrou baril M6

La tuerca cilindrica M6
Dado barile M6

Porca de tambor M6
laiika-6040HOK M6

M6 92l g

Eccentric pin

Exzenterstift

Stengel van excentriek

Tige d'excentrique

El pasador excéntrico

La barra dell'eccentrico

Rosca soberba

LLITok 3KcLeHTpuKa

(e yiiwsS]) 35S roio V 40,8 sexo

18x P

Screw M6 x 12
Gewindeschraube M6 x 12
Schroef M6 x 12

Vis M6 x 12

La tuerca M6 x 12

ILvito M6 x 12

Parafuso M6 x 12

Bunt M6 x 12

M6 x 12 JgJ

SPIRAL
LOCK

Protective cap

Abdeckkappe

Afsluitdop

Bouchon pour le confirmer

La tapa del tornillo de rosca gruesa
IL tappo di chiusura per il confirmato
Tampao para os parafusos confirmat
3arnywka

slag ozl oné(osuaroll

SPIRAL
3 X U:UD:D:U:U LOCK

Eccentric pin

Exzenterstift

Stengel van excentriek

Tige d'excentrique

El pasador excéntrico

La barra dell'eccentrico

Rosca soberba

LLITok 3KCLeHTpUKa

(e yinsS]) 3S5050 V 40,8 s9=o

o (P

Screw M6 x 25
Gewindeschraube M6 x 25
Schroef M6 x 25

Vis M6 x 25

Tornillo M6 x 25

Vite M6 x 25

Parafuso M6 x 25

BunT M6 X 25

M6 x 25 )locuuod]

Dowel 8 x 30
Holzdiibel 8 x 30
Pluggen 8x30
Goujons 8 x 30
La clavija 8 x 30
La spina 8 x 30
Cavilha 8 x 30
WkaHT 8 x 30

8 x 30,Lwd

@ 18x gy R

Screw connection
Schraubverbindung
Koppeling
Connexion a vis
Conexion de tornillos
Viti di collegamento
Ligagdo de parafusos
Craxka

Jlail ) lowwod|

@ o
Mount the bottom of the bed
Montieren Sie die Unterseite des Bettes
Monteer de bodem van het bed
Monter le fond du lit
Monte la parte inferior de la cama
Montare la parte inferiore del letto
Montar o fundo da cama
Yronok Ans ycTaHOBKM AHa KpoBaTh

sl oo sl 52l Jox

@ 10 x @)-»)»»)»»)»»)»»)»

Screw M6 x 50
Gewindeschraube M6 x 50
Schroef M6 x 50

Vis M6 x 50

Tornillo M6 x 50

Vite M6 x 50

Parafuso M6 x 50

BunT M6 x 50

M6 x 50, Locurall

@@ Requirements for security,
storage, and use

1. Please read carefully the requirements of this
manual.

2. Protect the item from shocks and mechanical
damage.

3.To avoid injury, ensure the correct and secure
assembly in accordance with the requirements of this
manual before the first use of the product.

4. The product should be stored indoors at a
temperature not less than +2°C and relative humidity
of 45% to 70%.

5.The product is recommended to be cleaned with a
damp cloth and then dried with a soft clean cloth.

@ Anforderungen an die Sicherheit,
Lagerung und Verwendung

1. Lesen Sie bitte die Anforderungen dieser Anleitung
sorgfaltig durch.

2. Schitzen Sie den Artikel vor Schlagen und
mechanischer Beschadigung.

3.Zur Vermeidung von Verletzungen stellen Sie vor
dem ersten Gebrauch sicher, dass das Bett gemaf} den
Montageanweisungen richtig und sicher
zusammengebaut wurde.

4. Das Produkt sollte im Innenbereich bei einer
Temperatur von nicht weniger als +2°C und relativen
Luftfeuchtigkeit von 45 bis 70% gelagert werden.
5.Zur Reinigung wird empfohlen, das Produkt mit
einem feuchten Tuch abzuwischen und dann mit
einem weichen Tuch nachzutrocknen.

@) Warranty from the manufacturer

1. The manufacturer guarantees the conformity of
product to the requirements of normative documents
DIN EN 716 under condition of the observance of
rules of storage, transportation, operation and
assembly.

2.The warranty period is 24 months.

3. During the warranty period any defects are
eliminated free of charge. If a defect is found, you
should immediately inform the manufacturer. The
decision to repair or supply a spare part is at the
discretion of the manufacturer.

4. This product is not suitable for commercial or
industrial use. Violation of terms of use results in the
reduction of the warranty period.

5. The warranty covers only materials or
manufacturing defects. Spare parts’ deterioration or
damage which may occur as a result of incorrect
exploitation, use of force or intervention which took
place without prior consultation with our service
Department, are not covered by warranty.

6. Please keep the original packaging during the
warranty period to ensure safe transportation of the
product in case of return. Do not send the item to
our service department without packaging!

@] Garantie des Herstellers

1. Der Hersteller garantiert, dass der Artikel den
Anforderungen der Europdischen Norm DIN EN 716
entspricht, unter Einhaltung von dem Benutzer die
Bedingungen fiir Lagerung, Transport, Gebrauch und
Montage.

2.Die Garantiezeit betrdgt 24 Monate.

3.Wahrend der Garantiezeit werden eventuelle
Mangel kostenlos beseitigt. Der Hersteller wird die
Garantie durch Ersatzteilversand oder Reparatur
erflllen.

4. Dieses Gerat ist nicht fiir eine kommerzielle oder
gewerbliche Nutzung geeignet. Eine
Zuwiderhandlung hat eine Garantieverkiirzung zur
Folge.

5. Bei Verschleifteilen oder Beschadigungen, die
durch unsachgemafien Gebrauch, Gewalt oder
technische Verdnderungen entstanden sind und ohne
Riicksprache mit unserer Serviceabteilung
vorgenommen wurden, erlischt der
Garantieanspruch.

6. Bitte bewahren Sie, falls mdoglich, die
Originalverpackung fiir die Dauer der Garantiezeit
auf, um im Falle einer Retoure die Ware ausreichend
zu schiitzen und senden Sie keine Ware unfrei zur
Service Abteilung ein!

@ Acceptance certificate

The product # is made and accepted
in accordance with obligatory requirements of
standards, current technical documentation and is
acknowledged to fit for service.

The technical control representative

Manufacture date

Packer

The manufacturer reserves the right
to make minor technical changes not

reflected in this guide.

Repair, replacement of parts and components
of the goods during the warranty period are
made at the following address:

Polini GmbH, Dieselstrae 2, 40721 Hilden, Deutschland
tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de

Sale date

Stamp of the selling company

@] Bescheinigung iiber die Annahme

Das Produkt # wurde in
Ubereinstimmung mit obligatorischen
Anforderungen der geltender technischen
Dokumentation hergestellt und angenommen
und wurde als gebrauchstauglich erklart.

Der Vertreter der Abteilung fiir technische
Kontrolle Herstellungsdatum Verpacker

Herstellungsdatum

Verpacker

Der Hersteller behilt sich das Recht
vor, geringe technische Anderungen
vorzunehmen, die in dieser Anleitung
nicht dargestellt wurden.

Reparatur, Ersatz von Teilen und

Komponenten der Ware, wahrend der

Garantiezeit erfolgt unter der Adresse:

Polini GmbH, DieselstraRe 2, 40721 Hilden, Deutschland
tel.: +49 (0) 211-17607990, e-mail: info@polini-group.de

Verkaufsdatum

Stempel der Verkaufsorganisation







,0“‘ \ ”
)
\]I,/
l
|
|
>
7
4“

S

/

19






17



16



RN ERN SRV

L

15



=
N

\||||||||||

%

,
\\<\_<\<\<\\

11

14



12

N

//ﬁl\\ g
\\_’_// .
\/ Ie
|
L
]

%’ﬁw N

e

N

\Nl

~ N

N

\///

13



